Indicator name : OIH_Ext TMA Line_CL Histo v1.1

Hello,
There are 2 functions to upgrade it.
The first is for "ISM(Inherit State Mode)"
I need it to see the higher time frame's data on lower time frame likely as M15's data on M1 chart.
And it should have a option to select "On / Off" on parameter likely as below.

∙ ISM     On / Off

If "Slope only" activated, it will display a DeepSkyBlue / DeepPink colored bar at sub_window.
At this time, if "Slope only" & "ISM" were activated at the same time,
∙ It will display a SlateBlue colored bar after a DeepSkyBlue colored bar happened, and 0.5 sized
 bar at sub_window, and v1 = 0.5 on Data Window.
∙ It will display a OrangeRed colored bar after a DeepPink colored bar happened, and 0.5 sized
 bar at sub_window, and v2 = -0.5 on Data Window.


If "Slope & Colors" activated, it will display a Green / Red colored bar at sub_window.
At this time, if "Slope & Colors" & "ISM" were activated at the same time,
∙ It will display a Teal colored bar after a Green colored bar happened, and 0.5 sized
 bar at sub_window, and v3 = 0.5 on Data Window.
∙ It will display a Maroon colored bar after a Red colored bar happened, and 0.5 sized
 bar at sub_window, and v4 = -0.5 on Data Window.





And the 2nd is to calculate it based on current candle.
This indicator calculates it based on previous candle, and I had an issue when I use this indicator with other higher time frames likely as a data of H1 on M1 chart.
I hope to read the trend of higher time frame on M1 chart.
If this indicator calculates it by current candle, each below mode should calculate it as followings.
∙ Slope only : value of the center line from the 1st previous candle to current candle

∙ Slope & Colors : For Slope - value of the center line from the 1st previous candle to current
                                candle
                                              &&
                     For colors - value of the center line on current candle
                                 ∙ v1 = v3 on current candle for Green colored bar
                                 ∙ v2 = v3 on current candle for Red colored bar


-  -

